& ERHBREHERKI

(NEMERFR(EFBEFH)
8 HEER ZEBRER aRER SR
16 102 102 98 96.1%
17 98 98 93 94.9%
18 98 98 93 94.9%
19 93 92 87 94.6%
20 105 103 98 95.1%
)EEMERAR (EFHREFLH)
8 HERER REBRER aRER SHRE
16 78 76 71 93.4%
17 85 84 81 96.4%
18 82 82 80 97.6%
19 78 78 75 96.2%
20 81 80 80 100.0%
Q)REMERHR (EFBREFH)
8 HEER REBRER aRER SR
16 89 86 74 86.0%
17 91 90 89 98.9%
18 92 92 92 100.0%
19 85 85 80 94.1%
20 85 84 84 100.0%
(OEMERAR (EFBREFLH)
8 HEER ZEBRER aRER SR
16 20 20 20 100.0%
17 16 16 16 100.0%
18 7 7 7 100.0%
19 10 10 10 100.0%
20 10 10 10 100.0%
G)ZREHREMERAR(EPHRETH)
8 HEER REBRER aRER SR
16 28 28 27 96.4%
17 44 44 32 72.7%
18 35 35 33 94.3%
19 39 39 36 92.3%
20 40 40 37 92.5%
(OERRRERMERAR (EFHREFER)
8 HEER REBRER aRER SR
16 39 39 38 97.4%
17 36 36 36 100.0%
18 38 38 37 97.4%
19 40 40 33 82.5%
20 45 45 39 86.7%




(NEF EME R ()

%K R ZREN anEN aH®
16 63 63 57 90.5%
17 56 56 54 96.4%
18 52 51 46 90.2%
19 54 54 43 79.6%
20 61 61 56 91.8%
O RAGTERIR REH)
%K B ZREN anEN BH®
16 85 85 81 95.3%
17 87 87 76 87.4%
18 84 84 74 88.1%
19 84 84 70 83.3%
20 81 80 67 83.8%
E ()~ OORFFLEFEOFREI R HLBER. TRER. BREN. BRE
() FERR
@B (5)
F K 2 5 HEEH Foet LA BHREHEN
15 fE LK 272 28 3 XD 3
£ = 50,054 6,986 1,201 1,170
1 fE LK 252 28 2 2
£ = 49,880 7,438 1,201 1,170
17 fE LUK 213 24 1 1
£ = 45,758 7,637 1,454 1,464
18 fE LK 179 20 3 3
£ = 35,713 3,820 542 549
19 fE LUK 147 13 0 0
£ = 27,975 2,219 250 248
N ALk 0 0
£ HE 18,203 1,605 141 144

F1CHBEERE, EoREREBEERTEELHRERREINTOSEERS
F2:FoRERE, BER HXH, ORXOIEF KM ORRREEESRRERELLD,
A3 BERERBHRMONKONT, FRBEFEORXHROTEHRE (REERXARRTTERR) T, AHFEORXHERIC

BRLEBEEST.

QEIERER (1)
% & -2 HEES geay | SOMBOCHE | ssanam
18 Fa[ITpN=2 12 12 8 4
£ H 2,125 2,091 1,684 1,009
19 Fa[ITpN=2 32 23 19 10
£ H 5,401 4,607 3,479 1,851
20 Fa[ITpN=2 59 35 26 11
£ H 7,842 6,261 4,654 2,065




	国試合格状況（年度別）

